
261216

9

10

12

26

114315751

19351882331

39

27

41

28

41?40
38

34

37

36

17

46

48
47

48
33

13

45

42

2124188

29

20

41

22

25

44

3 4 14

60LT CHEM-E-FLUSH PARTS ILLUSTRATION
THIS DRAWING IS FOR ILLUSTRATION PURPOSE ONLY
PLEASE REFER TO PARTS LIST.

32

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 A106425 TAIL 1" TO 25MM 1
2 A106640 TAIL 1 1/2" TO 40MM 1
3 A116313 ELBOW D13 FOR FLY NUT 3/4" 1
4 A200030 FLY NUT 3/4" 1
5 A200040 FLY NUT 1" 1
6 A200060 FLY NUT 1 1/2" 1
7 A240045 NIPPLE 1"-1 1/4" REDUCING 1
8 A250030 NIPPLE 3/4" 2
9 A250050 NIPPLE 1 1/4" 1

10 A454135 BALL VALVE POLY 1 1/4" 2 WAY 1
11 A1302050 TEE 1 1/4" 1
12 A2402065 REDUCER NIPPLE 1 1/2"-1 1/4" 2
13 AG4000B FLAT SEAL 5/8" EPDM 1
14 AG10031 O RING 3/4" 1
15 AG10041 O RING 1" 1
16 AG10061 O RING 1 1/2" 1
17 AG40002 FLAT SEAL 1/2" EPDM 1
18 AG40003 FLAT SEAL 3/4" EPDM 2
19 BJHB075 HOSEBARB 3/4" NPT X 3/4" BARB 1
20 BJHB075-050 HOSEBARB 3/4" NPT X 1/2" BARB 1
21 BJHB075-90 ELBOW 3/4" NPT X 3/4" BARB 1
22 BJHB100 HOSEBARB 1"NPT X 1" BARB 2
23 BJSL075-90 ELBOW 3/4" MALE FEMALE 1
24 BJTEE075 TEE 3/4" FEMALE 1
25 BJTEE100 TEE FEMALE THREADED 1" NPT 1
26 BJTF150AV ANTI VORTEX FITTING 1 1/2" 1
27 HPW12 12MM HOSE 1
28 HPW12 12MM HOSE 1
29 HPW12 12MM HOSE 1
30 HPW20 20MM HOSE 1
31 HPW25 25MM HOSE 1
32 KB-1003A-1 60LT CHEM-E-FLUSH MANIFOLD 1
33 P60C-1 60LT CHEMIFLUSH TANK 1
34 P60C-2 LID 1
35 PH4622 ELBOW 3/4" FEMALE 1
36 POL6340839P.CRO RINSING NOZZLE WITH 1/2" TAIL 1
37 POL63402999 LEVER HANDLE CHEM-E--FLUSH 1
38 POL63408499 RINSING NOZZLE 1
39 TR1HC HOSE CLAMP 25MM 1" WORM DRIVE 2
40 TR34HC HOSE CLAMP 20MM 3/4" WORM DRIVE 2
41 TR12HC HOSE CLAMP 20MM 1/2" WORM DRIVE 5
42 UP-105AB CHEM-E-FLUSH MOUNTING BRKT SERIES 2 1
43 UP-116 NOZZLE 8.5 VENTURI CHEM E PLUS 1
44 40SQWASHER 40MM SQUARE WASHER 4
45 .75SSWASHER 3/4" STAINLESS STEEL WASHER 1
46 M6X16 M6 X 16 BOLT HT ZP 2
47 M6NNUT M6 NYLOC NUT 2
48 M6FWASHER M6 FLAT WASHER ZP 4

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6 7 8

G

60LT CHEM-E-FLUSH PARTS ILLUSTRATION

KB-1003A

WEIGHT: 

N/A

N/A
A2

SHEET 1 OF 1SCALE: 1:10

DWG NO.

TITLE:

ISSUEDO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:    0.2
TOLERANCES:       
          LINEAR:         0.5
     ANGULAR:         0.5

Q.A

MFG

APPV'D

CHK'D

DRAWN

COPYRIGHT PROPRIETOR

THIS DRAWING IS THE PROPERTY OF CROPLANDS PTY. LTD.
AND MUST BE TREATED AS CONFIDENTIAL.
REPRODUCTION OF THIS DRAWING (OR PART THEROF) OR COMMUNICATION OF ITS 
CONTENTS IS PROHIBITIED WITHOUT THE CONSENT OR AUTHORITY OF CROPLANDS PTY. LTD.

CROPLANDS
A NUFARM LIMITED COMPANY

A

LJSMITH 210912
CHEM-E-FLUSHREVISION


	Sheet1
	Drawing View1


